@ PTGROUP e

Taroso-cuenHoe
ycTpouncTeo Tuna AV

MHCTpYyKUMS NO YCTAHOBKE
W aKcnnyatauuu

AV type coupling device

Installation and operating instructions

v Ra (Yes)
Cbém
6éamnepa

Her (No)
Bumper

()

disassembles

3
2

<

Noppeska
6éamnepa

x
A
z

5

Bumper
cutting

ApTukyn: Mapka 1 Mopenb aBToMo6uns:

MGL-19-991422.00 HorSeass mnaz

* - MNopxoOuT HA KOMMAEKTALMN YKA3AHHBIX FOLOB BbiMyCKA.
Suitable for the configuration of the specified years of production.



3HakomMmcTBO ¢ Bawumm papkonom

dapkon Tmna AV OCHALLEH BbICTPOCHEMHON CUCTEMON AEMOHTOXA ChbEMHOWM
yactv ¢papkona (kptoka) ¢ KIkoueBbiM 4OCTYTOM 1 COYeTaeT B cebe yao6CTBO
3KCMAYATALMN U BBICOKYKO CTEMEHb 3ALLMLLIEHHOCTN OT MOTEHLMNASIBHOM KPOXM.
BbirogHbIM NpenMyLLIECTBOM KOHCTPYKLMM dapkona Tuna AV aBnseTcs To, YTO npu
OEMOHTUPOBAHHOM KPIOKE HO OBTOMOBUIE OTCYTCTBYIOT BU3YObHbIE MPU3HAKMN
YCTOHOBMIEHHOrO GapKona.

YCTAHOBKA U CbEM KPIOKA HE TpebyeT KAKMX-NTMBO MHCTPYMeHTOB. Cnctema
30NMPAHUS KPIOKO HO MPUEMHOM YaCTN GAPKOMNA BbIMOMHEHA C MOMOLLbIO CMELMUANBHO
PA3PABG0TAHHOIO CTOMOPHOIO MEXAHW3MA. [1PK YCTAHOBKE KPKOKA ero Gukcaums B
NPUEMHOM YaCTU GAPKOMNA MPOUCXOOMUT ABTOMATUYECKU. [Ing 4eMOHTAXA CbeMHOM
yactu ¢apkona (kptoka) TpebyeTcs BCero ABA AENCTBUS: NMOBEPHYTb KITOY B OTKPLITOE
COCTOSIHME N YCTOHOBUTbL PYUKY KPIOKA B MOMOXEHWE PA3GIIOKMPOBAHO, YTO B
3HAYUTENBHOWM CTEMEHM MOBLILLAET KOMGOPT SKCMAYATALMN GAPKONA.

Kaxpgbi kptok dapkona tmna AV nogeepraeTtcs 50-4acoBomy CneumanbHOMy
NCMBITAHMIO HA YCTONOCTb B TAG0PATOPUN Mpon3soamTens. Bo Bpemsa [aHHOro TecTta B
TeUYEHUU 2 MUIIIIMOHOB LIKITOB UCTbITIBAKOTCS XAPAKTEPUCTUKM KPKOKA HA
COOTBETCTBME 3ASBNEHHbBIM TArOBbLIM MAPAMETPAM.

OTO rapAHTUPYET HOM, UTO KAXAbIA MPOOYKT MMEET OOAMHOKOBOE KOYECTBO.
KauecTBo nponykLumm Takxe noareepxaeHo ceptudmkaTom N2, E4 nonyyeH
NHcTutyToM ceptudmkaumm RDW B fonnangum.

Meet your AV type coupling device

The AV type coupling device is equipped with a quick-release system for
dismantling the removable part of the device (towball) with key access and combines
ease of use and a high degree of security against potential theft. Advantage of the
AV type coupling device design is that when the towball is disassembled, there are no
visual signs of an installed towbar on the vehicle.

Assembly as well as disassembly does not require any tools. In these systems a
towball is mounted to the socket by a specially designed locking bolt. It can be
mounted by plugging the towball to the socket and it locks itself automatically. To
disassemble the towball, only two steps are required: turn the key to the open position
and set the towball handle to the unlocked position. Automatic systems significantly
raise the comfort of usage.

Each towball, before market sale, is subjected to approximately 50-hours of a
special fatigue test in producer laboratory. The test is based on checking its strength
by 2 million cycles under certain weight. It ensures us that every product has the same
quality.

The quality of our products is also certified with approval no. E4 received by
Certification Institute RDW in Holland.




MNacnopT usgenus

Product passport

MGL-19-991422.00




characteristics
Tun (Type): A50-X

-

H - MOKCUMArbHO [oMyCTUMAs
CTATMYECKAs BEPTUKASbHAS
HArPY3Ka HA LWAp;

T- TexHuyecku Aonyctnmaga

e R
1 3 | x1 | 4 x1 | § x1
i 5
w4 L
B = = Kopnyc MexaHnama
Banka TCY BokoBble KPOHLUTEHbI 6bICTPOCHEMA Kpptok MexaHm1aMa KpOHLLTEH po3eTku
(Coupling device beam) (Side brackets) (Towball socket) 6bicTpockéma (Towball) (Socket bracket)
6 x6 |7/ x8 | 8 x12 | Q x2 10 _xi4
M12x25 M12x1,25x40 a2 D12 A a2 )
1 x1112 x1
Konnayok CyMka ans Kpnom
\_ (Towball shield) (Towball bag)
4 N
TexHu4yeckue D= (g*T*A)/(T+A) - ropn3aoH- D= (g*T*A)/(T+A) - horizontal
TanbHAS CUNA, LENCTBYIOLLAS force acting between the
Xa pa KTQPMCT“K“ MEXAY TAra4yoM 1 NPULLENOM; tractor and the trailer;
Technical

H - maximum allowable static
vertical load on the ball;

T - technically permissible
maximum weight of the

)

X

M12

80

|

D(kN) H(kg) MOKCVMQSTbHAS MACCA TAraya; vehicle;
170 140 A- MOKCUMAbHAS MAcca A - maximum trailer weight
npuLena no AOHHbLIM according to the AV type
T(kg) Alkg) npowseoauTtens TCY. coupling device producer.
1 (- mna npyuena,o6opyno- (* - for a trailer equipped with
3445 750/3500 BAHHOTO TOPMO3aMM) brakes)
(Knacc npourocTv MeThos: bonT - 8.8, Faika - 8
(Hardware strength class: Screw - 88, Nut - 8)




UHCTpPYKLMSA NO YCTAHOBKE
Installation instructions




P
LUAT 1.
MNepen HOYONOM YCTOHOBKM TpedyeTcs
AEMOHTUPOBATL 30HUIA 6AMMNEP COrAIACHO
PYKOBOACTBY MO 3KCMyATALMM ABTOMOBUIIS.
[eMOoHTUpYMTe LUTATHYIO 6ASIKY, CHSB ee C
kpenneHnin. CHUMUTE SNeKTPUKY C Kpenne-
HWiA. CHUMUTE C KPEMNEeHU TEMNNIoBOM
OTPAXATENb B MECTAX, YKA3AHHbIX HO CXEME.

\

STEP 1.

Before starting installation you need remove
the rear bumper according to the vehicle's
operating manual. Dismantle the standard
beam by removing it from its mounts.
Remove electrician from the fastenings.
Remove the heat reflector from the
fasteners in the places specified in the
picture.

p
LUAT 2.

YCTaHOBUTE 6OKOBbIE KPOHLLTEMHbI B

LITATHbIE MECTA W1 30KpEenuTe NX paHee

OEeMOHTUPOOBAHHBIMU LUTATHLIMKU METU3AMU

KpenneHusa yecunmtend, d Takxe 601TAMU

M12x1,25x40, wanéamm 12 yBenmyeHHbIMM 1

LIan6amm 12 rpOBEPHBIMU.

CoeguHeHus He 3aTarneaTb!

STEP 2.

Install the side brackets into the standard
places and secure them with the previously
dismantled standard amplifier mounting
hardware, as well as with M12x1,25x40 bolts,
12 A washes and 12 lock washes.

Do not tighten the connections!

LUAT 3.

[ng yno6CcTBA AANbHENLLER YCTAHOBKM
peKoOMeHayeTCs NPEABAPUTENBHO 3aKpe-
MUTb KOPMYC MEXAHM3MA BbICTPOCHEMA U
KPOHLUTENH po3eTkM Ha 6anke TCY npu
nomoLym 6onToB M12x25, Wwané 12 v wans 12
rpoBepHbIX. YcTaHoBuTe 6anky TCY,
COBMECTMB OTBEPCTUS B 6ASIKE C OTBEPCTUS-
MW B KPOHLUTEMHOX U 3adUKCHpyinTe ee
NONOXEHNEe METU3AMM U3 MOCTOBKM ~
6ontamm M12x1,25x40, wanéamm 12 n
LIan6amMm 12 rpOBEPHBIMU.

Ortperynupyiire nonoxeHune TCY n 3argaHuTte
BCe COeAUHEHMS.

STEP 3.

For comfort further installation It is
recommended to pre-fix the towball socket
and socket bracket on the coupling device
beam by using M12x25 bolts, 12 washers and
12 lock washers. Install the coupling device
beam by aligning the holes in the beam with
the holes in brackets and fix its position with
hardware from the supply - M12x1.25x40
bolts, 12 washers and 12 lock washers.
Adjust the coupling device position and
tighten all connections.

N

LUAT 4.

MNepepn yCTAHOBKOM 304HEro 6amnepa
NOAPEXbTE Ero TAKMM XE OBPA30M,

KOK 3TO MOKA3AHO Ha cxeme. [TogcoeamHunte
3NEKTPUKY. YCTAHOBUTE PAHEe AEMOHTUPO-
BOHHbIM 304HMA 6aMNep.

BcToBbTE KPIOK B MPUEMHYIO YACTb GapKona,
ero ganbHenwas ukcaums 1 3anmpaHme
npown3onayT GBTOMATUYECKMN.

YcraHoBka 3asepLueHal

STEP 4.

Before installing the rear bumper cut it in the
same way as shown in the picture. Connect
the electrician. Install the previously
removed rear bumper.

Insert the towball into the coupling device
socket, its further fixation and locking will
happen automatically.

Installation completed!






